Lecture Six

( Types of Questions )
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The primary purpose of the passage is to

Which of the following best expresses the author’s main point!?
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Which one of the following best describes the organization of the passage!?

In the passage, the author is primarily concerned with
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The author’s attitude toward the culture in most factories is best described as

The author regards the traditional view of the origin of the oceans with
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Because the digital playback system “reads” only numbers, any noise and distortion that may
accumulate during storage and manipulation of the digitized S|gnal will have little effect: as long as
the numbers remain recognizable, the original waveform will be reconstructed with little loss in

quality.

Which of the following statements about the numbers by which sound is represented in a digital
system can be inferred from the passage!

(A) They describe the time interval between successive
sounds in a passage of music.

(B) They model large changes in the amplitude of the
initial sound with relatively poor precision.

(C) They are slightly altered each time they are read by
the playback apparatus.

(D) They are not readily altered by distortion and noise accumulated as the digital signal is stored and
manipulated.

(E) They are stored in the recording medium in small groups that can be read simultaneously by the
playback apparatus.



Because the digital playback system “reads™ only numbers,
any noise and distortion that may accumulate during storage
and manipulation of the digitized signal will have little effect

= (D) They are not readily altered by distortion and noise
accumulated as the digital signal is stored and manipulated.
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Snyder et al propose that caffeine, which is structurally similar to adenosine, is able to bind to
both types of receptors (A, and A,.), which prevents adenosine from attaching there and allows

the neurons to fire more readily than they otherwise would.

Snyder et al suggest that caffeine’s ability to bind to A, and A, receptors can be at least partially
attributed to which of the following?

(A) The chemical relationship between caffeine and phosphodiesterase
(B) The structural relationship between caffeine and adenosine

(C) The structural similarity between caffeine and neurotransmitters
(D) The ability of caffeine to stimulate behavior

(E) The natural occurrence of caffeine and adenosine in the brain
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Pessen does present a quantity of examples, together with some refreshingly intelligible statistics,
to establish the existence of an inordinately wealthy class. Though active in commerce or the
professions, most of the wealthy were not self-made but had inherited family fortunes. In no sense
mercurial, these great fortunes survived the financial panics that destroyed lesser ones. Indeed, in
several cities the wealthiest one percent constantly increased its share until by 1850 it owned half
of the community’s wealth.

According to the passage, Pessen indicates that all of the following were true of the very wealthy in
the United States between 1825 and 1850 EXCEPT:

A They formed a distinct upper class.
B Many of them were able to increase their holdings.

C Some of them worked as professionals or in business.

D Most of them accumulated their own fortunes.

E Many of them retained their wealth in spite of financial upheavals.
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As an indicator of shifts in the Earth’s climate, the isotope record has two advantages. First, it is a
global record: there is remarkably little variation in isotope ratios in sedimentary specimens taken
from different continental locations. Second, it is a more continuous record than that taken from
rocks on land. Because of these advantages, sedimentary evidence can be dated with sufficient
accuracy by radiometric methods to establish a precise chronology of the ice ages.

It can be inferred from the passage that the isotope record taken from ocean sediments would be
less useful to researchers if which of the following were true!?

(A) It indicated that lighter isotopes of oxygen predominated at certain times.
(B) It had far more gaps in its sequence than the record taken from rocks on land.

(C) It indicated that climate shifts did not occur every 100,000 years.

(D) It indicated that the ratios of oxygen 16 and oxygen 18 in ocean water were not consistent with
those found in fresh water.

(E) It stretched back for only a million years.



As an indicator of shifts in the Earth’s climate, the isotope record has two
advantages.

... Second, it is a more continuous record than that taken from rocks on
land.

It can be inferred from the passage that the isotope record taken from
ocean sediments would be less useful to researchers if which of the
following were true!?

(B) It had far more gaps in its sequence than the record taken from rocks on
land.
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Third, at least some of the [geological] material must have retained the
signal unaffected by subsequent changes in the environment.

It can be inferred from the passage that an environmental signal found in
geological material would not be useful to paleoclimatologists if it

(A) had to be interpreted by modern chemical means

(B) reflected a change in climate rather than a long-term climatic condition
(C) was incorporated into a material as the material was forming

(D) also reflected subsequent environmental changes

(E) was contained in a continental rather than a marine sequence



in order to / fEFHEN

At [o]a) SR, o) 15 B LEHE/al/b, 18 = /kw  in

order to/ serve...function / is intended to / is used to

5 B LE—F vs. N5



ZiE L — =
9FHS - BFETF

np, v-ing, that SVO

T+ - IR
a/bl/c kw/cs
W= - Fl

lew TS/TW



{5l 6

Some economists have suggested that giving away free shares would provide a
needed acceleration of the privatization process. Yet they miss Thomas Paine’s point
that “what we obtain too cheap we esteem too lightly.”

The quotation in line 39 is most probably used to
(A) counter a position that the author of the passage believes is incorrect
(B) state a solution to a problem described in the previous sentence

(C) show how opponents of the viewpoint of the author of the passage have supported
their arguments

(D) point out a paradox contained in a controversial viewpoint

(E) present a historical maxim to challenge the principle introduced in the third
paragraph
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Moreover, since lake levels are controlled by rates of evaporation as well as by precipitation,
the interpretation of such levels is ambiguous. For instance, the fact that lake levels in the
semiarid southwestern United States appear to have been higher during the last ice age than
they are now was at one time attributed to increased precipitation. On the basis of snow-line
elevations, however, it has been concluded that the climate then was not necessarily wetter
than it is now, but rather that both summers and winters were cooler, resulting in reduced
evaporation.

The author discusses lake levels in the southwestern United States in order to

(A) illustrate the mechanics of the relationship between lake level, evaporation, and precipitation
(B) provide an example of the uncertainty involved in interpreting lake levels

(C) prove that there are not enough ancient lakes with which to make accurate correlations
(D) explain the effects of increased rates of evaporation on levels of precipitation

(E) suggest that snow-line elevations are invariably more accurate than lake levels in determining
rates of precipitation at various points in the past
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The End



